4 #‘%ﬁlﬁ*&;
BUARAELHR

3—’1&;&9’ Eg'_7 f;:
?71;1]—!1('—"‘ » SE U

‘.

REEANFERES§
iy * BHEEP

R EEF R ﬂt.&wj.éi?ﬂ BoE s BRI AR
ARBETEY AL E  ARTRGFEAGNEEF Y o

2024.7

[INBAKFTELFEAL(FRAEFRILRATNEZFAEFIZRFTWRELERA
Rule 144A .z 2 #F PR FiF £ )]
- A EFANTEEL ﬁm?’&::
ﬁ@/%ﬁaw B E
L Tk o &@5%% - -
GUEp TR RE RS | 3% 2.00%
) (£ d37° H4s
#) !
B w Bt 4 8 £ - s()F ¢ A | )7 ¢ A () §

% (CDSC) gw%4¢%94 ?%1*¥94“?§
LEAAEE A ﬁﬁ’%E%%@@
%ﬁﬁ@ﬁééﬁ A E
Ly 1Y 3%
1Y 4% 2Y 2%
2Y 3% 3Y 1%
3Y 2% 4Y # T &5
4Y 1%
5Y # T &9
E - - -
[l - prt Thud LY
EANER T PR EE X E L e
- EEd R EFTAL AR
BRSO E Y T B E
;IE:’_%" 8 1.80% 8 1.80% & 1.80%
x&'——g;‘ # 8 0.02% # 8 0.02% & 0.02%
A\ﬁ"d"”’ - 8 1.00% & 1.00%
ﬁi)iF‘ - - i
H (ﬁrﬁﬂ’z o &;E?ﬁ’ 8 0.20% 8 0.20% & 0.20%
RIRIER E)
ﬁ._k$ R "" * & 8 2.02% 8 3.02% & 3.02%
= ~3 .ﬁfh

FHERAFRT Y AeT L Feit R

B ﬂw&w—ﬁf% AR E AR A ELEPE

5% ¢ E

P FHERT TR -
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AE B DR 1 & 2 & 3 & 4 & 5 &
PABT AHAG 4,079 6,217 8,417 10,680 13,009
$1ERG 4,079 4,079 4,079 4,079 4,079
(TH
T F2ERGH 2,138 (T2) 2,138 2,118 2,118
NIRRT E 2,200 (T3) 2,179 2,179
5] FA4ERFH 2,242 2,242
(T4
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T1 : 100000%2% + (98000%1.05)*2.02% =2000+2079=4079

T2 : ((98000%1.05)-2079)*1.05%2.02% =100821*1.05%2.02%=2138

T3 : ((100821#1.05)-2138)*1.05%2.02% =103724*1.05%2.02%=2200

T4 : ((103724*1.05)-2200)*1.05%2.02% =106710%1.05%2.02%=2263

T5 : ((109782*1.05)-2263)*1.05%2.02% =109872*1.05%2.02%=2328
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B R2ERY ™ 6,229 (B2) 3,229 3,229 3,229
NIRRT E 5,288 (B3) 3,288 3,288
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B1 : (100000*1.05)*3.02% +100000%*4% (CDSC) =3171+4,000 =7171
B2 : ((100000*1.05)-3171)*1.05%*3.02%+100000*3% (CDSC)=
101829*1.05%*3.02%+100000*3%=3229+3000=6208
B3 : ((101829*1.05)-3229)*1.05%*3.02%+100,000%*2% (CDSC)=
103691*1.05%3.02%+100000*2%=3288+2000=5288
B4 : ((103691%*1.05)-3288)*1.05%3.02%+100,000*1% (CDSC)=
105588*1.05%3.02%+100000*1%=3348+1000=4348
B5 1 ((105588%1.05)-3348)*1.05%2.02%=(107519*1.05)* 2.02% =2280
[r: g i Tlawliah £cB2 4n b 3 % "8 5 2.02%]
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AT AFRT 6,171 8,400 10,688 11,928 14,232
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(ED)
E B2ERT 5,229 (E2) 3,229 3,229 3,229
S IEEET Y E 4,288 (E3) 3,288 3,288
5] FAERT 2,240 2,240
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El : (100000*1.05)*3.02% +100000*3%(CDSC) =3171+3,000 =6171
E2 : ((100000%*1.05)-3171)*1.05*3.02%+100000*2%(CDSC)=
101829*1.05*3.02%+100000%*2%=3229+2000=5229
E3 : ((101829*1.05)-3229)*1.05*3.02%+100,000*1%(CDSC)=
103691%*1.05*3.02%+100000*1%=3288+1000=4288
E4 : ((103691*1.05)-3288)*1.05%2.02%=(105588*1.05)* 2.02% =2240
E5 : ((105588*1.05)-2240)*1.05%2.02%=(108628*1.05)* 2.02% =2304
[r:gd i Tlswliah £4cB-2 4ph 7 % "8 5 2.02%]




